I can measure and LOMmpare the annciw n,uﬁ di@?zrznt containers.

The jug was full.

AT T

The teapot was full.

W@@@B

The bottle was full.

The /FM“ }uqf MAA zmptizd into some LUpA.
The ,c,apaﬁihj A LS.
The /FM“ tE,CUP,Ot W.as zmptizd info some LUpA.
The ,c,apaﬁihj A LS.
The /Pu“ hottle was zmptizd into some LMpA.

,CMP/S.

The ,C,QP,C{,CUZI% A

The vase was full.

The Lﬂpﬂgit/\j is 7 LUPA.
True orFalse?

E)xplain Aj,O/uI ANAMNLT.

3a. Jo and Tom are filling their cups with
water from the jug. Who is correct?

o 0

qj
Jo's cup Tom’s cup
w i | will get more water. ]

Faey
Jo
We will both get the
same.

Tom




